Flux

1A1742-294-JEMX1-MJID54903.460514 _lc.txt / MJD 54903.460579 / burstid=7463

Deviation [sigma]

Deviation [sigma]

Deviation [sigma]

L Grey line: exponential fit Peak flux: 1.126+/- 0.382 c/s/cm? ]
- Black line: power law + gauss fit Fluence : 15.42+/- 7.62 clcm? —
— Dashed line: power law . ) ' ) —
L Duration: 84.61+/- 46.07 s .
j Best fit model: 1. ]
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E Power law index: -0.671+/- 0.264 (chi*-red= 1.20) =
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—  Power law fit plus Gaussian (st.dev.= 45.90+/-41.68 s, fracgs= 0.18+/- 0.30) =
- Power law index: -0.669+/- 0.468 (chi’-red= 1.21) =
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